
 

 

 







 
It seems this solution has found the probability that only one, sports car is insured. The question 

is asking for the probability of only one, non-sports car being insured. 

 



I am not certain that this is the case. However, here is my solution: 

 

Let XX be the event that more than one car is insured. Let YY be the event that a sports car is 

insured. 

 

P(X)=0.85⟹P(Xc)=0.15P(X)=0.85⟹P(Xc)=0.15 

P(Y)=0.23 , P(Y∩X)=0.17P(Y)=0.23 , P(Y∩X)=0.17 

⟹P(Y∩Xc)=0.06⟹P(Y∩Xc)=0.06 

P(Yc∩Xc)=P(Xc)−P(Y∩Xc)=0.15−0.06=0.09 





1 

P(A) = 0.4, P(B) = 0.5, P(A∩B) = 0.3, 
GIVEN 

2 

P(AUB) = P(A) + P(B) - P(A∩B) 
FROM THE FORMULA 

3 

P(AUB) = 0.4 + 0.5 - 0.3 = 0.6 
PUTTING THE VALUES 

4 

P(A∩B') = P(A) - P(A∩B) 
FROM THE FORMULA 

5 

P(A∩B') = 0.4 - 0.3 = 0.1 
PUTTING THE VALUES 

6 

P((A∩B)') = P(A' ∪ B') 
HENCE P(A' ∪ B') = 1 - P(A∩B) 

FROM THE FORMULA 
7 

P(A' ∪ B') = 1 - 0.3 = 0.7 
PUTTING THE VALUES 

RESULT 
(A) P(AUB) = 0.6 
(B) P(A∩B') = 0.1 
(C) P(A' U B') = 0.7 
This is the wrong problem 

 











 









 



















 





















 







 





 





































 





 



























 





 













 























 







 





























 

 























































 







































 





 

 





















 



 





















 





 



 

 







 













 













 













 





 









 

 

 





 

























 

 







 



























 





 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 



 









 





 

 





 

 





 

 





 





 



 

 

 

 

 

 

 

 

 

 

 

 

 

 





 





















 

 





 

















 





 









 



 





 


